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2- Shortest-Job-First (SJF) Scheduling

التنفيذفي Processيتم التنفيذ اعتمادا على الوقت الذي يستغرقة الـ : عمل الخوارزمية 

(Burst time) , فيتم ترتيب الـProcesses يذبالتنفحسب الوقت من الاقل للاعلى ويبدأ.

:تكونالخوارزمية هذه 

1-Preemptive

2-Non-preemptive    .

الحد الأدنى لمتوسط وقت الانتظار حيث تعطي –الأمثل هي  SJFالـ * 

processesالـ لمجموعة معينة من 



(SJF) Scheduling (Non-preemptive)

Example 1:Draw the Gantt chart and calculate the average waiting for
the processes as in the given table (all processes arrived at time 0)?

.(0)وصلت في نفس الوقت processesفي هذا المثال جميع الـ 

Processes Burst time

P1 6

P2 8

P3 7

P4 3

▪ Waiting time:
P1 = 3
P2 = 16
P3 = 9
P4 = 0

▪ Average waiting time = (3 + 16 + 9 + 0) / 4 = 7 Ms.
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(SJF) Scheduling (Non-preemptive) Cont.

▪ Now we add the concepts of varying arrival times (اضافة وقت الوصول)

▪ Example 2:Draw the Gantt chart and calculate the average waiting 
for the processes as in the given table?

Processes Arrival time Burst time

P1 0 6

P2 2 8

P3 3 7

P4 4 3

Burstالـكانوانحتىوصولاا Processاولباختيارالتنفيذيبدأ- timeالوحيدلانه(السؤالفي)عاليله
.(Nonpreemptive)لانهااكمالهحينالىبتنفيذهويستمرالوقتذلكفيالواصل

Burstالاقلمنالتنفيذيكملهنا,الاخرىprocessesالـجميعوصولنلاحظتنفيذهاكمالعند- timeالى
.الاعلى

Processes Arrival time Burst time

P1 0 6

P4 4 3

P3 3 7

P2 2 8



(SJF) Scheduling (Non-preemptive) Cont.

▪ Waiting time:
P1 = (0-0)=0
P2 = (16-2)=14
P3 = (9-3)=6
P4 = (6-4)= 2

▪ Average waiting time = (0 + 14 + 6 + 2) / 4 = 5.5 Ms.
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▪Waiting time= start time – arrival time

Processes Arrival time Burst time

P1 0 6

P4 4 3

P3 3 7

P2 2 8



(SJF) Scheduling (Preemptive) Cont.

▪ Example 3: Draw the Gantt chart and calculate the average waiting 
for the processes as in the given table?

Processes Arrival time Burst time

P1 0 8

P2 1 4

P3 2 9

P4 3 5

▪ Waiting time:
P1 = [(0-0)+(10-1)]=9
P2 = (1-1)=0
P3 = (17-2)=15
P4 = (5-3)= 2

▪ Average waiting time = (9 + 0 + 15 + 2) / 4 = 6.5 Ms.

▪Waiting time= (start time – arrival time)+(2nd/3rd start – 1st/2nd execute time)
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(P1)اولباختيارالتنفيذيبدأ- Process وصولاا
Bustالـلانيستقطعسوف.1Msوبعد time

منهاقلبعدهالواصلProcess(P2)للـ / 7

الـملاحظةمعProcessالـلنفسبالتنفيذيستمر-
burst timeللـProcessesاقلكانتاذا

.نفيذهبتيبقىاقلواذاللاخروينتقليستقطعمنه
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